(B 1) S
FUSERA (1 =4R%)
X # &
(ZD—) BE BRI R
I B3
" H em) " i e
Jiti 5 A PR K OV Rl DR 78, 967 8 BALR e B 82, 569
AHEEL NS 11, 283
KB it 3¢ 7% 13, 068
(ER2) T 55, 625 PRV A 9, 507
FEBE « S QK 55, 625 PRI A 159
FRARTAAR - AR < W KEEIRE
W55 T S HE R 1 2 42, 409
Z D i %
RS A2 e i 14, 910 e TRt E 5, 863
(/SL] VRV e B
JEA] RIS BR B i - R B
Z Dl 14,910 EESLYEREEE ¢
fif ST E M A 1, 321 i A R
TREAR AR sl 280
R E =¥l 1,321 A B 4 5 B 4
EZ filf FUBFEE AT 4
NZ RS T8 %
TR Mt 3 6, 120 THE B 280
PR 3 147 Z Dl
LSgt) 147 8 PSR N R 7,478
S¥ S~ INE 7,478
sl 0 KERIBHE 7,478
PRTBR AR s TR 7,181
JFEFEM LB S 5% Fl+ 297
VRV BRET R (i i 2% EERAUSTS T %
VEVE LA ffi R JLAE
P fE 7K Flr
AL - ORAE sl 0
51 Te4E
i Fil
e i —REFE DA E 37, 258




(ZD—) #E BRI SR

g

7 H

<2
Z O

o RS
K3k 5 TR
TRbER IR
HENT SR
FHE

[ Je = 4
PEIB R e

KEMEIAAES

B LA PRTE TS Bh &

Z Dty
VR« TR S H 4
oA AR
ZAEF AR
RS BREBTR A
Z Dftt

t

N

il

Ky

KEMIH
BRI T
W PETEFAIA

< DAl
Al =5 4
Hl+
ST 55
TR
2 R BROER
REE AL TE A
SRR
THE PR 2
AR A
RITARBERR N 42
Z DAt

— IR ERE N D DR

844
172
172

48, 166

48, 166

AN =
=

127, 305

op

it

127, 305




(B 2) GUYERES
(D) BRI R
I X
% : S H : e
[E] i 3 4 1,531, 654 etk LR P 22, 636
FEAN % 1,376, 575 N2 8, 879
R it X 7% 13, 757
BRBEMRR © PhENMiRx 155, 079 A
Y - THETA S H 4 360, 746 B i m e i e 2, 256, 405
FEA X 326, 336 [ELHE S S A A 2,091, 000
T i B EAHSE 165, 405
BRBEMRR © PhENMiRx 34, 410 R T s R A 0
[ERESY (s EfEREAHS
Sl e 0 B AR S
YN BRETHEAR - DR R i 2 419, 164
i X EE R A
BREEMERY « PRAMERX B EAHSE 419, 164
A Jii JEL A Tt A R e
Ny 1, 002, 000 VESERN B i 2
FEA R 781, 000 HIE 4
T i Bt
BRBEMRR © PhENMiRx 221, 000 Z Dt 0
JEE g% B iR 4
TEZER FATHE R
Z Dl ZRt T HE
BT MEIE S TR BACR AN E 1R 55 692, 961
< Dfth, 0 INME 692, 961
FERIR T2 FEA Nt a% 560, 343
N LUAUE NAVPN LA 531, 252
FATHIE BB IR F+ 29, 091
EAR R it 132, 618
=7t & OE A4S TLAE 117, 023
ZREFENA FF 15, 595
VTS BR TR A P4 BRiF R - PR AEHRR 0




(D) AR BRI SRS

I A X
H i e H i ey
—XEZFED B DN E 496, 766 F T
FEA R 415, 393 A i 0
T i AR 19, 558 T4
BREHE A - PREhi i 61,815 T
JEA: i 5% TR 0
(=3 JeA
& 4 F 7
Bt Z DAl 0
saoliih TLA
F
B SR L YN
= G 3, 391, 166 = G 3,391, 166




